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1l 16 2|XE #& Mounty (¥9074=) | & |SVFR 7.82 782 | &
2| 37 47(E45 Rl K& (E7) R ES S 8.26 8.26 | R
3| 68 1| X% # MOOSE(L=R) [ & [Zv¥XR 8.40 8.40 | &
4] 57 50| =8 B— Y&> |V w79 TYT 8.90 890 | iR
5/ 19 59|F B stella(277) R |V evh7vENTIT 9.63 9.63 | & E¥
6| 59 5580 ZE& LD R |ETATLT—FL 9.69 9.69 | &
7| 49 68|{_HE FERXR |BB 2 |V evh7vENTIT 9.73 9.73 | &
8| 25 42(kA —F& JxH 2 |MIVFLRI-TYT 9.82 982 | BX
9 3 49(EE B A A 2 |V evh7vENTIT 9.86 9.86 | BX
10 2 33(4EN XE BE (1) S VE SIS VARV 9.99 9.99 | BX
1] 12 19|KE Bz Ta— & |91hvaa-¥-Av7'0-7|  10.05 10.05 | B%
12 1 67(FEH E=F a—v S |Yybab =7 Ny 10.24 1024 | BR
13| 18 57| FEEF0 ¥ ROY (A1) @ |MIVFIRS-TT 10.40 1040 | BX
13| 26 46(88K HRF *rvoT4 & |V evivENT)T 10.40 1040 | #
15 54 66(FEFT BEA Ly S [VrybIuh =7 Ny 10.46 10.46 | BR
16| 66 17| KB #z AYx 2 [9zhyaa-%-AV7m-9|  10.77 1077 | BR
17| 28 16| KE B2 ETa 2 |91hvaa-%'-Av7R-4| 1087 1087 | B%
18| 46 27[/IMI1 H2% | FF S |V yh vl TT 11.07 1107 | #
18| 52 6|BJI BEFEE [Simba(¥un) A |V eyhIvENTIT 11.07 1107 | #
20| 15 21| KM vapE |CAR & |MIVFIRG-TIT 11.12 1112 18
21 11 82(AH &= = QL 11.13 1113 | 17

22%% 20 69| KB FEH|FHR(BL) 2 |% 11.14 11.14 | 16
23[ 24 8|fRIE mZE E—X & |3ZFaTE VY- 11.32 1132 | 15
24| 44 o|¥ER BH= AN L |V evivENT)T 11.37 11.37| 14
25 7 31(JIlE IEBA H<V 2IE=TNL 11.41 1141 13
25| 13 0|18/l £RF |DA5b 2 |V v 79ENTIT 11.41 1141 12
27 51 22| K5 FPH  |Latte (77) 2 |V evivENTIT 11.52 1152 11
28| 50 18| KE f§2z FTI @ |91hya1-¥-Av7'm-9| 1153 1153 | 10
29| 21 9|E%E bLE |E I |% 11.59 1159 | 9
30| 61 74|1FE &R FA49IL & |/8E3> 11.62 1162| 8
31| 62 RN £252F Khdh 2 [V evh7vENTYT 11.89 189 | 7
32| 14 75|FE & RLA & |/8E3> 11.93 1193| 6
33| 45 92(ILH FE #HE (ThN) R |V evh7vENTIT 12.04 1204 | 5
34l 9 54|70 HEiR NG SEVESTSV NN R PAY 1217 4
35 48 3| BE s Harih om(n\A=L) [ & [V ¥9979ELTYT 12.23 1223 | 3

36S 47 36| KT Fn#a EYay el @ |vzubauN =7y 12.24 1224 2
37| 55 R2(Ng E£EF |FOY RIE=T 1L 12.26 1226 | 1
38| 41 62|81 )l EF EFBAr) Q |s#ewirssrse-nzanzn | 12.66 12.66
39[ 30 V|EE FF T7oK (M T—FL 12.91 12.91
40| 53 28|88 KM BERT1T) ?E=FL 12.97 12.97
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IEGL | HIE | Eviry| BmES PN 3] Rig B4 L mERA S BEP | HEF
41 40 45|78K RF ILT S |V ryhIvtEnTT 12.99 12.99
42( 35 65| H fEF L) R ES S 13.06 13.06
43 43 9ILTT AREF |[VHI= N a1 13.15 13.15
44 17 11EE 1B HAT 2 |V evh7vENTIT 13.57 13.57
45| 29 37|EEH #&Y |REY |V eIl T)T 13.85 13.85
46| 42 44|7HE £ QU7 2 |/sF3ay 13.88 13.88
47| 33 T6iFR LOA [Lwlw R 13—V —TUT 16.00 16.00
48| 36 87|1EH RF on— A |V eI ENTIT 16.63 16.63
49 64 72(BA RF FvE— 2 |V evh7vENTIT 17.21 17.21
50 27 T8|fBR HETF [&RF & |V evivENT)T 17.40 17.40
51| 32 24| K% T *RAh— A |V eyhIvENTIT 17.50 17.50
52| 60 34| XXE B M) & |91hvaa-%-Av7’n-4|  17.85 17.85
53 10 13| KAk & B (e Al VA ==, 19.12 19.12
54| 22 53[8 HTF #L(A'D) 2% 19.65 19.65
55| 56 14| RKAR &F [FRUTH) O VA = 20.05 20.05
56| 65 20| KM 2&L |58 & |3=FaTAVIRIVN 26.30 26.30
57| 69 40/ BE B/ e 26.44 26.44
58 5 73(AMm RF INwE— L |V evivENT)T 2759 27.59
59| 67 128K FN B ()Y) R |o—X— 31.18 31.18
60 6 Y[k BE BBk (913) 2% 37.04 37.04
61 8 NEX FHF |E&G0) R |o—X— 39.76 39.76
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23 58[IFEA {EME [Ryk A (=TI R KAyF RKEYF
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